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1,823,985,000

1

2019

1,823,985,000

1 2019-07-22




: 2019

570,284 1,044,163 57.2
6,400 6,400 0.3 /

-3,960 716,044 39.2

0 11,000 0.6

3,942 46,378 2.5

3/25



SCRIPT ERROR

(
)
1,050,563 473,879 576,684
1,044,163 473,879 570,284
1,044,163 473,879 570,284
1,044,163 473,879 570,284
473,879 473,879 0
570,284 0 570,284 € § 1) ) P 1.987.000 5 957 000
( ) - 8,925,000
(16,882,000 x 1 ) - 7,957,000 =
( ) 1 2,625,000 2,625,000
x 1 =
( ) D (G2BL000 oo
x 1 )-2,625,000 =
( ) = (5,631,000 400,000
x 1 )-5,231,000 =
¢ D 2,480,000 X 1, 0000
(_ ) - 780,000 x 1 780,000
( ) = 400,000 400,000
x 1 =
(1 _) - 360,000 x 360,000
§ R DILAT2,000 X o) oo
( ) 2,160,000
2,160,000 x 1 =
( ) 21,604,000
21,604,000 x 1 =
( ) S 2,094,000
2,094,000 x 1 =
C D 8,646,000 X 1 oo
( ) D (17,269,000 X g o0
1 ) - 8,646,000 =
( ) = 6,900,000 6.900.000
x 1 =
( ) ¢ 1,600,000
1,600,000 x 1 =
( ) ) 6,650,000
6,650,000 x 1 =
( ) () : 21,040,000 21,040,000
x 1 =
( ) « 5,480,000
5,480,000 x 1 =
( ) ¢ 12,000,000
12,000,000 x 1 =
( ) ) 1,500,000
1,500,000 x 1 =
( ) ¢ 12,000,000
12,000,000 x 1 =
1 2019-07-22




SCRIPT ERROR

(
C )
( ) ¢ ) 300,000
(12,300,000 x 1 ) - 12,000,000 =
C . 7,920,000 x 1 7,920,000
( ) D (9,600,000 X 1 oo
) - 7,920,000 =
( ) D (19,320,000 x 1 g0
) - 9,600,000 =
(1 ) - 6,600,000 x g 660 000
( ) = (8,000,000 1.400,000
x 1 ) -6,600,000 =
( ) - (16,096,000 8,096,000
x 1 ) - 8,000,000 =
(1 B () :14584,000 x o000
( ) () : (20,417,000 5 833,000
x 1 ) - 14,584,000 =
( ) () : 743,000 e o0
x 1 =
( ) C )= 2,975,000
(10,411,000 x 1 ) - 7,436,000 =
( ) ) D122,170,000 X 1,000 oo
( ) D (71,088,000 X 1 40 oel oo
) - 122,170,000 =
( ) : 2,000,000
2,000,000 x 1 =
( ) ¢ D= 300,000
300,000 x 1 =
( ) : 2,200,000
2,200,000 x 1 =
( ) - 1,435,000
1,435,000 x 1 =
( ) = 408,000 408,000
x 1 =
( ) () : 500,000 500,000
x 1 =
( ) () L4000 00
x 1 =
( ) ¢ D= 11,000,000
11,000,000 x 1 =
( ) - 67,000 67,000
x 1 =
( ) ¢ )= 26,000,000
26,000,000 x 1 =
( ISW ¢ - 3,000,000
3,000,000 x 1 =
( ) ¢ )= 20,400,000
20,400,000 x 1 =
( ) ¢ - 35,000,000
35,000,000 x 1 =
( ) 2,605,000
12,605,000 x 1 =
i 1 ) < 4,395,000 4,395,000

2 : 2019-07-22




SCRIPT ERROR

(
)
( ) ( ) : 3,500,000 3,500,000
x 1 =
( ) < 43,250,000 43,250,000
x 1 =
( ) ¢ 6,900,000
6,900,000 x 1 =
( ) ¢ )= 20,000,000
20,000,000 x 1 =
6,400 0 6,400
6,400 0 6,400
6,400 0 6,400
6,400 0 6,400 ( ) : 100,000 x 1 = 100,000
( ) - 100,000 x 3 = 300,000
( ) ( ) > 6,000,000
6,000,000 x 1 =
727,044 731,004  -3,960
716,044 720,004  -3,960
716,044 720,004  -3,960
275,456 275,456 0
254,816 254,816 0
20,640 20,640 0
306,684 285,644 21,040
306,684 285,644 21,040(_ ) )= 21,040,000 x1 51 049 000
53,614 53,614 0
53,614 53,614 0
0 25,000 -25,000
0 25,000 -25,000 . 225,000,000 x 1 = -25,000,000
4,500 4,500 0
4,500 4,500 0
550 550 0
550 550 0
75,240 75,240 0
75,240 75,240 0

3 : 2019-07-22




SCRIPT ERROR

(
)

11,000 11,000 0
8,000 8,000 0
8,000 8,000 0
8,000 8,000 0
3,000 3,000 0
1,200 1,200 0
1,200 1,200 0
1,800 1,800 0
1,800 1,800 0
46,378 42,436 3,942
46,378 42,436 3,942
46,378 42,436 3,942
46,378 42,436 3,942

46,378 42,436 3,942 ( ) : -137,000 x1 = -137,000

( ) 4,079,000 x1 = 4,079,000
1,823,985 1,247,319 576,666

4 : 2019-07-22




SCRIPT ERROR

1 ( : )
)

14,245 9,350 4,895
4,395 0 4,395
4,395 0 4,395
( ) 4,395 0 4,395

4,395 0 4,395 ( ) 4,395,000

1,464,700 x3 x1 =

9,850 9,350 500
4,950 4,950 0
4,950 4,950 0
4,950 4,950 0
4,900 4,400 500
2,500 2,000 500

2,500 2,000 500 500,000 x1 = 500,000
2,400 2,400 0
2,400 2,400 0
674,818 | 342,723| 332,095
314,445 281,070 33,375
314,445 281,070 33,375
20,640 20,640 0
20,640 20,640 0
264,609 233,781 30,828

264,609 233,781 30,828(x1 11 - ( ) 14,584,000 14,584,000

)((1 =) ( ) 5,833,000 5,833,000

(x1 11 _ ( ) 7,436,000 7,436,000

(x1 Z ( ) 2,975,000 2,975,000
21,069 21,069 0
12,200 12,200 0
7,000 7,000 0
1,869 1,869 0

1 : 2019-07-22




SCRIPT ERROR

( : )
()
5,580 5,580 0
2,280 2,280 0
2,300 2,300 0
1,000 1,000 0
2,480 0 2,480
2,480 0 2,480 ( ) 1 x 1,230,000 = 1,230,000
( ) 1 x 1,250,000 = 1,250,000
67 0 67
67 0 67 ( ) 67,000
67,000 x1 x1 =
15,300 13,300 2,000
13,720 11,720 2,000
2,600 2,600 0
550 550 0
1,250 1,250 0
800 800 0
2,400 2,400 0
300 300 0
2,100 2,100 0
100 100 0
100 100 0
6,620 6,620 0
6,620 6,620 0
2,)00 0 2,000
2,000 0 2,000 5 1 = )2 300,000 300,000
( 23,4 300,000
300,000 x1 =
( )5,6 300,000 300,000
x1 =
( ) 30,000 570,000
x 19 =
( ) 45,000 x 2 90,000
x1 =

2 : 2019-07-22




SCRIPT ERROR

1 ( : )
)
( ) 4,000 x 60 240,000
( ) 4,000 200,000
x 50 =
1,580| 1,580 0
680 680 0
680 680 0
900 900 0
900 900 0
284,479 0 284,479
171,038 0 171,038
) 171,038 0 171,038
171,038 o 171,088 € i} ) 111,370,000 x 1 111,370,000
E ) 44,548,000 x 1 44,548,000
(: ) 10,800,000 x 1 10,800,000
(: ) 4,320,000 x 1 4,320,000
65,725 0 65,725
43,250 0 43,250
43,250 0 43,250 )(< - ) 43,250,000 43,250,000
1,435 0 1,435
1,435 0 1,435 §’435’030 i1 - 1,435,000
21,040 0 21,040
21,040 o 21,040 € i} ) 21,040,000 =1 21,040,000
12,300 0 12,300
( ) 12,300 0 12,300
12,300 0 12,300 iso,ooo) ‘0 - 12,000,000
iso,ooo) x2 = 300,000
35,416 0 35,416
« ) 35,416 0 35,416
35,416 o 35,416 ¢ ) ) 7,920,000 1 7,920,000
3 - 2019-07-22




SCRIPT ERROR

1 ( )
)
C O 1,680,000 x 1 1,680,000
« 9,720,000 x 1 0,720,000
D) 6,600,000 6,600,000
x 1 =
¢ 1,400,000 1,400,000
x 1 =
¢ 8,096,000 8,096,000
x 1 =
60,504 48,353 12,241
6,900 o 6,900
1. 1,960 0 1,90
1. 1,280 o 1,280 ¢ ) 32,000 x 2 1,280,000
x 20 =
2. 680 0 es0 ¢ ) 15,000 300,000
x 10 x2 =
( ) 20,000 x 8 160,000
x 1 =
( ) 20,000 x8 160,000
x 1 =
«C 3,000 x10 x2 = 60,000
2. 2,540 0 2,540
1. 1,500 o 150¢ ) 70,000 x 1 1,200,000
x 10 450,000 x1 x10 =
¢ 300,000
50,000 x3 x2 =
2. 1,040 o 100 .- ) 70,000 x 2 140,000
€ 500,000
25,000 x 10 x2 =
¢ 400,000
20,000 x 10 x2 =
3. 1,200 0 1,200
1. 1,200 o 1,200/( ) 50,000 x6 x4 = 1,200,000
4.508 900 0 900
1. 900 0 200 € ) 30,000 x20 x1 600,000
[ 30,000 x 10 x 1 200,000
5. 300 0 300
1. 300 0 300 ¢ ) 8,000 x50 x2 300,000
53,604 48,353 5,341
1. 5,000 5,000 0

4 : 2019-07-22




SCRIPT ERROR

( : )
)

5,000 5,000 0
41,194 35,853 5,341
218 218 0

40,976 35,635 5,341 5,341,000 x 1 = 5,341,000
4,500 4,500 0
4,500 4,500 0
3,000 3,000 0
3,000 3,000 0
310,602 244,390 66,302
207,078| 126,381 80,697
19,080, 18,660 420
3,240 3,240 0
3,240, 3,240 0
15,540 15,420 120

15,540 15,420 120 120,000 x 1 = 120,000
300 0 300

120 0 120)(<2 Z 60,000 x1 120,000

180 0 180 ¢ ) 36,000 x5 180,000
47,550 5,650, 41,900
5,650 5,650 0
3,650 3,650 0
2,000 2,000 0
35,000 0 35,000

12,000 o 12,000 ¢ i ) 12,000,000 =1 12,000,000

23,000 0 23,000( ) 20,500,000 x 1 = 20,500,000

( ) 900,000 x 1 = 900,000

( ) 1,600,000 x 1 = 1,600,000
() 6,90 0 6,900

5 : 2019-07-22




SCRIPT ERROR

( : )
)

4,200 0 4,200(= ) 4,200,000 =1 4,200,000

2,700 0 2,700(: ) 2,700,000 1 2,700,000
16,602 1,600 14,912
300 300 0
300 300 0
1,000 1,000 0
1,000 1,000 0
2,290 300 1,900

2,290 300 1,900 1,900,000 x 1 = 1,900,000
13,012 0 13,012

11,760 0 11,760/( ) 1,703,260 x1 x6 = 10,220,000

( ) 130,000 x1 x6 = 780,000

( ) 60,000 x1 x6 = 360,000

(: ) 400,000 x1 x1 200,000

1,252 o 1,252/( )5 208,666 x1 x6 = 1,252,000
18,822 500 18,322
500 500 0
400 400 0
100 100 0
16,882 0 16,882

14,100 0 14,100( ) 2,220,000 x1 x3 = 6,660,000

( ) 2,220,000 x1 x3 = 6,660,000

( ) 130,000 x1 x3 = 390,000

( ) 130,000 x1 x3 )= 390,000

2,782 0o 2,782( )5 302,330 x1 x3 = 907,000

( )5 625,000 x1 x3 = 1,875,000
1,440 0 1,440

1,440 0 1,4405<72 )= 20,000 =1 1,440,000

6 : 2019-07-22




SCRIPT ERROR

( : )
)

3,208] 2,800 408
2,800 2,800 0
2,800 2,800 0
408 0 408

408 0 a08 ¢ i} ) 408,000 x 1 x1 408,000
101,816| 97,081 4,735
34,201| 34,201 0
34,201 34,201 0
41,030 41,039 0
41,039 41,039 0
920 1,220 -300
420 420 0

500 800 -300| _ ~300,000 x1 ~300,000
4,800 4,800 0
4,800 4,800 0
800/ 1,100 -300

800/ 1,100 -300 300,000 x 1 = -300,000
500 500 0
500 500 0
600 600 0
600 600 0
900 900 0
900 900 0
1,000 1,000 0

566 0 566 566,000 x 1 = 566,000

334 900 -566 566,000 x 1 = -566,000
100 100 0
1,350 1,350 0

7 : 2019-07-22




SCRIPT ERROR
( )
)
750 750 0
600 600 0
11. 11,635 8,800 2,835
400 400 0
2,000 2,000 0
1,400 800 600 600,000 x 1 = 600,000
2,000 0 2,000 2,000,000 x 1 = 2,000,000
5,835 5,600 235 2,235,000 x 1 = 2,235,000
2,000,000 x1 = -2,000,000
12. 1,051 1,051 0
451 451 0
600 600 0
13. 120 120 0
120 120 0
14. 400 400 0
400 400 0
15. ) 2,200 0 2,200
400 0 400 ( ) 200,000 x 2 = 400,000
1,000 0 1,000 ¢ ) 600,000
100,000 x 6 x 1 =
5 . ) 100,000 x 4 400,000
800 0 800 | ( ) 100,000 x 8 = 800,000
16. 300 0 300
120 0 120 i 6 x 1 3 20,000 120,000
180 0 180 go,ooo )x 6 x1 - ( ) 180,000
103,614| 118,009| -14,395
41,000  29,400| 11,600
1. 7,000 7,000 0
2,000 2,000 0
8 - 2019-07-22




SCRIPT ERROR

)
(

5,000 5,000 0
200 200 0
200 200 0
6,600 6,600 0
6,600 6,600 0
7,000 7,000 0
7,000 7,000 0
1,200 600 600

1,200 600 600 600,000 x1 = 600,000
8,000 8,000 0
8,000 8,000 0
11,000 0 11,000

11,000 0 11,000 500,000 9,500,000

( 600,000

( ) 8,000 800,000

1,000 x 50 100,000
53,614 53,614 0
19,550 19,550 0
19,550 19,550 0
34,064 34,064 0
34,064 34,064 0
1,880 26,880 -25,000
1,380 1,380 0
1,380 1,380 0
500 500 0
500 500 0
0 25,000| -25,000

0 25,000 -25,000 ~25,000,000 -25,000,000

2019-07-22




SCRIPT ERROR

( : )
QD)

7,120 7,120 0
4,620 4,620 0
4,620 4,620 0
2,500 2,500 0
2,500 2,500 0
0 995 -995
0 995 -995

0 995 -995 ( 5.6 ) -995,000 x1 = -995,000
387,329| 306,144 81,185
340,034| 285,944| 54,090
298,225 285,944 12,281
300 300 0
300 300 0
285,644 285,644 0
238,080 238,080 0
47,564| 47,564 0
) 5,631 0 5,631

5,107 0 5,107|( ) 668,000 x 1 x3 = 2,004,000

( ) 634,666 x 1 x3 = 1,904,000

( ) 130,000 x 1 x3 = 390,000

( ) 128,333 x1 x3 = 385,000

( ) 24,000 x1 = 24,000

( ) 400,000 x 1 = 400,000

524 0 524( )5 77,000 x1 x3 = 231,000

( )5 97,666 x 1 x3 = 293,000
) 6,650 0 6,650

5,000 0 5,000|( ) 500,000 x 10 = 5,000,000

1,650 0 1,6505<5 +1&)so,ooo <1 = 300,000 1,650,000

10 : 2019-07-22




SCRIPT ERROR

( : )
)
41,809 0 41,809
17,269 0 17,269
15,859 0 15,859 ( ) 1,324,830 x2 x3 = 7,949,000
( ) 1,318,333 x2 x3 = 7,910,000
1,410 0 1,410 ( )5 116,166 x 2 x3 = 697,000
( )5 118,833 x2 x3 = 713,000
21,040 0 21,040
2,658 0 2,658 ( ) 221,500 x 12 = 2,658,000
18,382 o 18,382 ¢ - Z 12,382,000 12,382,000
i . ) 1,000,000 6,000,000
3,500 0 3,500
1,430 0 1,430 ¢ i} ) 1,430,000 1 1,430,000
2,070 0 2,070 ( ) 440,000 x 4 = 1,760,000
( ) 155,000 x 2 = 310,000
18,200, 18,200 0
18,200, 18,200 0
10,000, 10,000 0
10,000, 10,000 0
8,200 8,200 0
2,400 2,400 0
5,800 5,800 0
29,095 2,000 27,095
300 300 0
300 300 0
300 300 0
28,295 1,200 27,095
1,200 1,200 0
1,200 1,200 0

11 : 2019-07-22




SCRIPT ERROR

1 ( )
)
2. ( ) 100 0 100
1. | 100 0 100 i 1 = ) 100,000 100,000
3. ( ) 26,995 0| 26,995
1. 18,091 0 18,091 1,691,000 x1 = 1,691,000
( i ) 12,900,000 x 1 12,900,000
( ) 3,500,000 x 1 = 3,500,000
2. 8,904 0 8,904 g g = ) 1,200,000 9,600,000
-696,000 x 1 = -696,000
500 500 0
1. 500 500 0
1. 500 500 0

113,317 56,837 56,480

45,050 18,650 26,400

45,050 18,650 26,400

1. 3,500 3,500 0
1. 3,500 3,500 0
2. 7,960 7,960 0
1. 1,000 1,000 0
2. 560 560 0
3. 4,000 4,000 0
4. 2,400 2,400 0
3. 2,650 2,650 0
1. 2,650 2,650 0
4. 1,500 1,500 0
1. 1,500 1,500 0
5. 2,500 2,500 0
1. 2,500 2,500 0
6. 0 500 -500

12 : 2019-07-22




SCRIPT ERROR
)
)
0 500 -500 500,000 x 1 = -500,000
7. 40 40 0
40 40 0
8. 500 0 500
9 0 905 ) 15,000 =6 90,000
410 0 4105(2 ) 25,000 7 350,000
(: ) 30,000 x 2 60,000
9. 20,400 0/ 20,400
20,400 0o 20,400 € e ) i} 1,653,000 9,918,000
( ) 560,000 x 6 = 3,360,000
( ) 975,000 x 6 = 5,850,000
( ) (3 ) 143,000 x6 = 858,000
( ) 414,000 x1 = 414,000
10. 6,000 0o 6,000
0 0 0 600,000 x 1 = -600,000
(: ) 20,000 x 30 600,000
80,000 x 1 = -80,000
( ) 80,000 x 1 = 80,000
6,000 0 6,000( JLED 380,000 x 14 = 5,320,000
LED 680,000 x 1 = 680,000
14,217 7,137 7,080
7,800 720 7,080
1. 720 720 0
600 600 0
120 120 0
2. ) 5,480 0 5,480
5,480 o 5,480 ¢ i} ) 548,000 x 10 5,480,000
3. ) 1,600 0 1,600

13

2019-07-22




SCRIPT ERROR
)
)
1,600 0 1,600 §0,000 )x 16 x 10 = 1,600,000
6,417 6,417 0
1. 5,867 5,867 0
2,100 2,100 0
3,767 3,767 0
2. 550 550 0
550 550 0
49,050 26,050 23,000
49,050 26,050 23,000
1. 26,050 26,050 0
15,750 15,750 0
10,000 10,000 0
300 300 0
2.5W 3,000 0 3,000
48 0 48 §’477,530 2 E 3-0) 2,955,000
_ ( 3.0) -2,952,000 x 1 ~2.,952,000
5(9,000 15 = ) 4,000
2,952 0 2’952x1 - ( 8-0) 2,952,000 2,952,000
3. 20,000 0 20,000
8,875 0 8,875 >(< 1 =) 8,875,000 8,875,000
11,125 0 11,125|( ) 4,977,000 x1 = 4,977,000
( ) 1,980,000 x1 = 1,980,000
( ) 3,968,000 x 1 = 3,968,000
( ) 200,000 x1 = 200,000
5,000 5,000 0
5,000 5,000 0
1. 5,000 5,000 0
5,000 5,000 0

14

2019-07-22




SCRIPT ERROR

( : )
)

320,246 278,537 41,709
112,126 84,319 27,807
48,972 51,472 -2,500
15,932 15,932 0
4,500 4,500 0
8,000 8,000 0
3,432 3,432 0
15,980 15,980 0
10,240 10,240 0
500 500 0
3,500 3,500 0
240 240 0
1,500 1,500 0
17,060 19,560 -2,500

4,460 6,960 -2,500 -2,500,000 x1 = -2,500,000
12,000 12,000 0
600 600 0
63,154 32,847 30,307
13,200 13,200 0
13,200 13,200 0
14,915 13,071 1,844

6,136 8,371 -2,235|CCTV -735,000 x1 = -735,000

-1,500,000 x1 = -1,500,000
3,500 3,500 0
1,200 1,200 0

4,079 0 4,079 ) 4,079,000 x1 = ( 4,079,000
6,576 6,576 0
6,576 6,576 0

15 : 2019-07-22




( : )
QD)
( 28,063 0 28,463
26,369 0 26,369 ( ) 2,160,000
2,160,000 x1 x1 =
( ) 21,604,000
1,800,333 x2 x6 =
( ) 2,605,000
1,302,500 x2 x1 =
2,094 0 2,094 ( ) 5 2,094,000
174,500 x2 x6 =
200,412 188,010 12,402
200,412 188,010 12,402
68,730 62,730 6,000
34,340 36,000 -1,660 -6,000,000 x1 = -6,000,000
4,340,000 x1 = 4,340,000
15,000 15,000 0
19,390 11,730 7,660 ( ) 50,000 12,000,000
x 24 x 10 =
-4,340,000 x 1 = -4,340,000
800 800 0
800 800 0
40,780 40,280 500
34,300 33,800 500 500,000 x 1 = 500,000
4,800 4,800 0
1,680 1,680 0
1,680 1,680 0
1,680 1,680 0
3,000 3,600 -600
3,000 3,600 -600 -600,000 x1 = -600,000
42,520 39,920 2,600
40,780 38,180 2,600 ( ) 500,000 x1 = 500,000
( ) 1,500,000 1,500,000
x 1
( ) 600,000 600,000
x 1 =
1,740 1,740 0
16 - 2019-07-22




SCRIPT ERROR
)
)
34,402| 27,800 6,602
4,000 4,000 0
30,402| 23,800 6,602 6,500,000 x 1 = 6,500,000
( ) 102,000 x 1 = 102,000
8,500 11,200  -2,700
8,500  11,200|  -2,700 480,000 x 1 = 480,000
-800,000 x 1 = -800,000
) i ] -2,380,000 2,380,000
7,708 6,208 1,500
1,360 1,360 0
1,360 1,360 0
160 160 0
1,200 1,200 0
6,348 4,848 1,500
88 88 0
88 88 0
1,760 1,760 0
1,760 1,760 0
3,000 3,000 0
2,000 2,000 0
1,000 1,000 0
1,500 0 1,500
1,500 0 1,500 ¢ 3 ) 250,000 x 6 1,500,000
3,338 9,338  -6,000
3,338 9,338  -6,000
3,338 9,338  -6,000
3,338 9,338  -6,000
3,338 9,338  -6,000 ( ) -6,000,000 x1 = -6,000,000
17 2019-07-22




SCRIPT ERROR

1,823,985 1,247,319

576,666

18
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